Key to Quiz IV; F4360; Fall, 1998

1.  Other things being equal, which security holders win and which security holders lose if the firm undertakes high variance projects?  Stockholders win, bondholders lose

2.  What are two reasons that boards of directors may not end up protecting stockholder interests?  2 of:  stockholders usually poorly organized, management and management’s friends usually on board, most stockholders give proxy to management, management usually uses stockholder money to fight dissident stockholders in proxy fight.

3.  Which capital budgeting rule measures the impact on the value of the firm of undertaking a project? Net present value

4.  What are two problems with using internal rate of return as a decision criteria for new projects? 2 of:  project with highest IRR may not have highest NPV, ignores scale, biased against long-term projects, unclear if want highest or lowest IRR, possibility of multiple IRRs, possible that no IRR, cannot compare projects of different risk, difficult to compare to required return if required return is not constant across time

5.  In trying to decide whether run for President, Governor Tree realizes that over the last year he has spent $3 million to win the governor’s race.  Two million of this cost has yet to be paid.  How should this information affect Governor Tree’s decision on whether to run for president?  Irrelevant since sunk.

6.  The president’s salary is $200,000 per year and the Governor Tree’s current salary is $140,000 per year.  The Governor’s marginal tax rate is 36%, how should this information affect Governor Tree’s decision on whether to run for president?  CF = (200,000 – 140,000)(1- .36) = +38,400

7.  What is sensitivity analysis? An analysis of the impact on NPV of changing only one variable

8.  Mettal Inc. is considering building a new plant to manufacture toy space shuttles with John Glenn action figures.  If sales of the toy space shuttles and action figures really take off, then the plant could easily be expanded and if sales never get off the ground, then the plant could easily be converted into production of Tele Tubbies.  How should Mettal factor in this flexibility?  Possibility of expanding should be valued as a call option, possibility of converting production should be valued as a put option.

9.  What is one problem with using a firm’s weighted average cost of capital as the discount rate in analyzing whether to undertake a new project? 1 of:  project risk may differ from risk of existing assets, measured return on firm’s securities may not equal required returns if:  small sample problems, risk of firm has changed, market not in equilibrium, firm has recently done better or worse than expected.

10.  What is one advantage of using the average asset beta for firms in the same industry in a project that the firm is considering undertaking?  1 of:  helps reduce sampling error, better risk estimate if project risk differs from risk of firm’s existing assets

